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1. Solve the given differential equation. 3x°y" +6xy' +y =0 (10%)

2. Solve the given differential equation. y”+2y’ =2x+5—e? (15%)

3. Use the

Laplace transform to solve the given integral equation.

f@y=cost+ [e” ft-T)dr (10%)

4, Use the

dt

\

Laplace transform to solve the given system of differential equation.

dx
L= dx -2y +2u(t ~1
- =2y p(t-1)

3x =y + pu(t ~1) ,u(t-1)={°’ 0st<l (15%)

i, =1

X(0)=0, ¥(0) =%

5. Use the Gaussian elimination or Gauss-Jordan elimination to solve the given system.

X+ X+ X,=0 (10%)

{X1+2X2+2X3 =2

X, —3X,~ X, =0

30 0

6. If 4 :{0 2 OJ find (a) eigenvalues (b) eigenspace P (¢) compute 4° using the diagonal matrix D

by 4=

1 ¢ -1

PDP! (15%)

7. Four points  £,(0,0,0),R(3,5,2), A(2.3,1), A(-L,~1L4)and 4=PRR, B=RA, C=AA,

Find: (15%)
(a) AxBxC
(b) 4-(BxC)
(c) The plane contains R, P, P, points.
8. Find the Fourier series of f(#)=|¢|+~ intheinterval -zr<t<x. (10%)
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